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1 2 BEAI = 100CFU/mL O] Gt 0 2 EHE=ZZ =& =/100mL =245
3 = (Pb) 0.01mg/LO| Gt =3 4 £ (F) 1.5mg/LOl ot =3
5 Bl (As) 0.01mg/LO[ Gt 3= 6 Miells (Se) 0.01mg/LOI 3t =EdE
7 +=2(Ha) 0.001mg/LOI &} =3 8 AI2F(CN) 0.01mg/LOI Gt =3
9 3E(Cr) 0.05mg/LO| Gt == 10 Q2LIOtE & A 0.5mg/LOI Gt =SdE
11 MY EA 10mg/LO| Gt 2.8 12 = E(Cd) 0.005mg/LOI Gt =245
13 Hl = (Phenol) 0.005mg/L0OI 5t =3 14 SECIEZME 0.1mg/LOI G} 0.003
15 CtOIOF Kl = 0.02mg/L 0| Gt E3= 16 oteteEle 0.06mg/LOI Gt Eds
17 |1.2-0E22-83-222Z=22| (.003mg/LO| St =35 18 HLEZE= 0.04mg/LO| Gt =3
19 JtHE 0.07mg/LOI Gt A& (20 (1.1.1-EcISZ220 & | 0.1mg/LOI5t s
21 | HEZdZZZ2H Ed 0.01mg/LOI Gt =3 22 EclEz=20Ed 0.03mg/LO| Gt =235
23 CIS2Z=20 & 0.02mg/LOl St E2s | 24 gl &l (Benzene) 0.01mg/LOI Gt EA=
25 E 20 (Toluene) 0.7mg/LOl ot E24E | 26 ol € et &l 0.3mg/LOI Gt 2245
27 Al 0.5mg/LOl ot =HE 28 | 1.1-LIZ220E¢d 0.03mg/LO| Gt =3
29 AMNEBSEF A 0.002mg/LO| &t gd& | 30 & & (Hardness) 300mg/LOI Gt 39
31| MM E AL 10mg/LO| Gt =285 | 32 & A (Odor ) ol gl A AS
33 Ot(Taste) olgl gtg A NnS 34 & (Cu) 1.0mg/LOI Gk EA=
35 M (Colority) 5% 0| 3at =3 36 M Xl (ABS) 0.5mg/LOI Gt =245
37 #2025 (pH) 5.8~8.5 7.7 38 Ot (Zn) 3mg/L Ol Gt =HdE
39 gAa02 250mg/LO| Gt 17.5 40 SEUF2 500mg/L Ol Gt 102
41 & (Fe) 0.3mg/LOl ot =3 42 2k 2H(Mn) 0.05mg/LOI &t =3
43 & (Turbidity) 0.5NTU Ol Gt 0.1 44 2ol 2 200mg/L Ol Gt 4
45 220|s (Al) 0.2mg/LOI Gt =TS 46 S4FHA 4mg/LOI &t 0.50
47 =24(B) 1.0mg/LO| Gt =ZE | 48 S2ZLE 0.08mg/LOI Gt =&
49 =R AT 24 Z/100mL EAE (50| S=2Lot0IEHO0E 0.03mg/LO| Gt e
51 |[CIEZ20tMELIEE | 0.1mg/LOl 5t gt 52 |[CIZ22 20t ELIEE | 0.09mg/LOI ot 3S&t
53 |ECIZZZ0MELIEE | 0.004mg/L0| Gt 3t 54 SZ20tMEAIE 0. 1mg/LOI Gt 3¢t
5 | EZRCISZ220E 0.03mg/LO| Gt =3 56| CEZR2ZZ2Z20HE 0.1mg/LOI Gt =3
57 1.4-CtOI =S 4t 0.05mg/LOI Gt EZE | 58 ZE2O0IE 0.5mg/LOI Gt e
59 & £ Z/100mL =3 60 BELY 0.01mg/LOI Gt =3
61 fets 30ug/L Olat ==
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CMERHSE FETNE AYT, DL - 25, o/ E1F, AE2F, HEF AT

= RN =& )| = ZALZ 2 A E = &&= ZA
2 BEAI = 100CFU/mLO| St 0 2 EHE=ZZ =& =/100mL =245
= (Pb) 0.01mg/LOI G} 22 | 4 E2(F) 1.5mg/L 0| Gt EAE
Bl (As) 0.01mg/LO[ Gt 3= 6 Miells (Se) 0.01mg/LOI Gt =EdE
+=2(Ha) 0.001mg/LOI &} E3= 8 AI2F(CN) 0.01mg/LOI Gt E3E
FE(Cr 0.05mg/LOI Gt == 10 Q2LIOtE & A 0.5mg/LOI Gt =SdE
MY EA 10mg/LO| Gt 1.8 12 = E(Cd) 0.005mg/LOI Gt =245
Hl = (Phenol) 0.005mg/LO| &t == 14 SECIEZME 0.1mg/LOI Gt 0.002
CtOI Ot Kl = 0.02mg/L 0| Gt E3= 16 oteteEle 0.06mg/LOI Gt Eds
1.2-0223-3-222T28| (.003mg/L0| 5} EZE | 18 HUEZE& 0.04mg/LOI Gt EZ=
JtHE 0.07mg/LOI Gt A& (20 (1.1.1-EcISZ220 & | 0.1mg/LOI5t s
HEZS2==20 € | 0.01mg/LOIGH 22 | 22| EcZ2zzo 0.03mg/LO| ot ek
CIS2Z=20 & 0.02mg/LOl St E2s | 24 gl &l (Benzene) 0.01mg/LOI Gt EA=
EZ0(Toluene) 0.7mg/LOI Gt A= | 26 Ol & &l FI 0.3mg/LOl ot E2A=
Al 0.5mg/LOI &t =HE 28 | 1.1-LIZ220E¢d 0.03mg/LO| Gt =3
AMNEBSEF A 0.002mg/LO| &t gd& | 30 & & (Hardness) 300mg/LOI Gt 31
2L EAH S 10mg/LO| Gt 2ZE | 32 & A (Odor ) ol gl A AS
Ot(Taste) olgl gtg A NnS 34 & (Cu) 1.0mg/LOI Gk EA=
M (Colority) 5% 0| 3at =3 36 M Xl (ABS) 0.5mg/LOI Gt =245
#2025 (pH) 5.8~8.5 7.7 38 Ok (Zn) 3mg/L Ol Gt =HdE
gAa02 250mg/LO| Gt 9.1 40 SEUF2 500mg/L Ol Gt 80
& (Fe) 0.3mg/LOl ot =3 42 2k 2H(Mn) 0.05mg/LOI &t =3
& (Turbidity) 0.5NTU Ol Gt 0.14 44 2ol 2 200mg/L Ol 5t 3
2 20/=(Al) 0.2mg/LO| 5t 224 | 46 s 4mg/LO| Bt 0.55
4 (B) 1.0mg/LOI Gt == 48 S2=2LE 0.08mg/LOI Gt =&
cALUHERZ 24 Z/100mL EAE (50| S=2Lot0IEHO0E 0.03mg/LO| Gt e
CIEZ2Z20tNELIEE | 0.1mg/LOI 6t 3¢t 52 |[CIZ22 20t ELIEE | 0.09mg/LOI ot 3S&t
ECI2Z20MELIEE| 0.004mg/LO| Gt 3t 54 SZ20tMEAIE 0. 1mg/LOI Gt 3¢t
S2ILEZ220E 0.03mg/LO| Gt =3 56| CEZR2ZZ2Z20HE 0.1mg/LOI Gt =3
1.4-CtOI =S &t 0.05mg/LOI Gt EZE | 58 ZE2O0IE 0.5mg/LOI Gt e
& £ Z/100mL =3 60 BELY 0.01mg/LOI Gt =3
fets 30ug/L Ol ot ==
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1 2 BEAI = 100CFU/mL O] Gt 0 2 EHE=ZZ =& =/100mL =245
3 = (Pb) 0.01mg/LOl ot 22 4 24 (F) 1.5mg/LOl of 2=
5 Bl (As) 0.01mg/LO[ Gt 3= 6 Miells (Se) 0.01mg/LOI 3t =EdE
7 +=2(Ha) 0.001mg/LOI &} =3 8 AI2F(CN) 0.01mg/LOI Gt =3
9 FE(Cr 0.05mg/LOI Gt == 10 Q2LIOtE & A 0.5mg/LOI Gt =SdE
11 ESRAPSESIES 10mg/LO| Gt 1.6 12 = E(Cd) 0.005mg/LOI Gt =245
13 Hl = (Phenol) 0.005mg/L0OI 5t =3 14 SECIEZME 0.1mg/LOI G} 0.001
15 CtOIOF Kl = 0.02mg/L 0| Gt E3= 16 oteteEle 0.06mg/LOI Gt Eds
17 |1.2-0E22-83-222Z=22| (.003mg/LO| St =35 18 HLEZE= 0.04mg/LO| Gt =3
19 JtHE 0.07mg/LOI Gt A& (20 (1.1.1-EcISZ220 & | 0.1mg/LOI5t s
21 | HEZdZZZ2H Ed 0.01mg/LOI Gt =3 22 EclEz=20Ed 0.03mg/LO| Gt =235
23 CIS2Z=20 & 0.02mg/LOl St E2s | 24 gl &l (Benzene) 0.01mg/LOI Gt EA=
25 E 20 (Toluene) 0.7mg/LOl ot E24E | 26 ol € et &l 0.3mg/LOI Gt 2245
27 Al 0.5mg/LOI &t =HE 28 | 1.1-LIZ220E¢d 0.03mg/LO| Gt =3
29 AMNEBSEF A 0.002mg/LO| &t gd& | 30 & & (Hardness) 300mg/LOI Gt 31
31| MM E AL 10mg/LO| Gt 2ZE | 32 & A (Odor ) ol gl A AS
33 Ot(Taste) olgl gtg A NnS 34 & (Cu) 1.0mg/LOI Gk EA=
35 M (Colority) 5% 0| 3at =3 36 M Xl (ABS) 0.5mg/LOI Gt =245
37 #2025 (pH) 5.8~8.5 7.5 38 Ok (Zn) 3mg/L Ol Gt =HdE
39 gAa02 250mg/LO| Gt 13.8 40 SEUF2 500mg/L Ol Gt 91
41 & (Fe) 0.3mg/LOl ot =3 42 2k 2H(Mn) 0.05mg/LOI &t =3
43 & (Turbidity) 0.5NTU Ol Gt 0.1 44 2ol 2 200mg/L Ol Gt 4
45 220|s (Al) 0.2mg/LOI Gt =TS 46 S4FHA 4mg/LOI &t 0.60
47 =24(B) 1.0mg/LO| Gt =ZE | 48 S2ZLE 0.08mg/LOI Gt =&
49 =R AT 24 Z/100mL EAE (50| S=2Lot0IEHO0E 0.03mg/LO| Gt e
51 |CIEZ220tMELIEE | 0.1mg/LOI 6t 3¢t 52 |[CIZ22 20t ELIEE | 0.09mg/LOI ot 3S&t
53 |ECIZZZ0MELIEE | 0.004mg/L0| Gt 3t 54 SZ20tMEAIE 0. 1mg/LOI Gt 3¢t
5 | EZRCISZ220E 0.03mg/LO| Gt =3 56| CEZR2ZZ2Z20HE 0.1mg/LOI Gt =3
57 1.4-CtOI =S 4t 0.05mg/LOI Gt EZE | 58 ZE2O0IE 0.5mg/LOI Gt e
59 & £ Z/100mL =3 60 BELY 0.01mg/LOI Gt =3
61 fets 30ug/L Ol ot ==
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2 OHA = 100CFU/mL O] Gt 0 EHE=ZZ =24 Z/100mL =245
= (Pb) 0.01mg/LO| Gt =3 £ (F) 1.5mg/LOl ot =3
Bl (As) 0.01mg/LO[ Gt 3= Miells (Se) 0.01mg/LOI 3t =EdE
=2 (Ho) 0.001mg/LOI &} E3= AI2F(CN) 0.01mg/LOI Gt E3E
3E(Cr) 0.05mg/LO| Gt == Q2LIOtE & A 0.5mg/LOI Gt =SdE
MY EA 10mg/LO| Gt 0.7 II=Z(Cd) 0.005mg/LOI Gt =24ds
Hl = (Phenol) 0.005mg/L0OI 5t =3 SECIEZME 0.1mg/LOI Gt =23
CHOIOF Kl = 0.02mg/L 0| Gt E3= oteteEle 0.06mg/LOI Gt Eds
1.2-CIE2R2-3-222T 28| (.003mg/LOI 5t =35 HUEZE= 0.04mg/LO| Gt =3
JtHE 0.07mg/LOI Gt E3= 1.1.1-EcIZ2=220E| 0.1mg/LOI5H s
HECZSZ=0Ed 0.01mg/LOI 5t =242 EclEz=20Ed 0.03mg/LO| Gt =235
CIS2Z=20 & 0.02mg/LOl St E2= gl &l (Benzene) 0.01mg/LOI Gt EA=
E 20 (Toluene) 0.7mg/LOl ot E2= ol € et &l 0.3mg/LOI Gt 2245
Al 0.5mg/LOI &t =HE 1.1-CI2=220Ed 0.03mg/LO| Gt =3
AHSE BFEFA 0.002mg/LOlGt | 23S & & (Hardness) 300mg/L Ol Bt 25
2L EAH S 10mg/LO| Gt EZ= & A (Odor ) ol gl A AS
Ot(Taste) olgl gtg A NnS & (Cu) 1.0mg/LOI Gk EA=
M (Colority) 5% 0Olot E2= K HI (ABS) 0.5mg/LOI| Gt EAE
#2025 (pH) 5.8~8.5 8.3 Ot (Zn) 3mg/LO| Gt 0.004
gAa02 250mg/LO| Gt 7.5 SLA=2 500mg/L Ol Gt 73
& (Fe) 0.3mg/LO| Gt A a2H(Mn) 0.05mg/LO| 5t 22As
&S (Turbidity) 0.5NTU Ol Gt 0.10 2ol 2 200mg/L Ol 5t =2EE
220|s (Al) 0.2mg/LOI Gt EZ= S4FHA 4mg/LOI 5t 0.35
4 (B) 1.0mg/LOI Gt == S2=2LE 0.08mg/LOI Gt =&
cALUHERZ 24 Z/100mL =35 22 26I0|=dI0IE 0.03mg/LO| Gt =y
CIE=20tMELIEE | 0.1mg/LOIoH 3¢t CIZ220tMELIEE | 0.09mg/LOI Gt 28t
ECI2Z20MELIEE| 0.004mg/LO| Gt 3t SZ20tMEAIE 0.1mg/LOl Gt 3¢t
SZR0EZ2ZHE 0.03mg/LOI Gk =3 CIEZ2E2Z2Z22H E 0.1mg/LOI Gt 2=
1.4-CtOI =S 4t 0.05mg/LOI Gt 3= ZE2O0IE 0.5mg/LOI Gt =1
& £ Z/100mL =3 BELY 0.01mg/LOI Gt =3
fets 30ug/L Olat ==




2020888 48 d=+& =ESAt 21

ANa=2X : 20203 83 10€ g M

PN =
TFEE! QS v E
- AFERAN SRR E RN AL AL ART FEES FHP] A5l

W 6, W3 14, W€ 55, 7] 61, ¥7] 14070 F5(RA61,3H79)F2HAE AL d5Yeh

o] 2o A5 FAAAL AAE HEE FAV|E AFF UG
= ARARAFR FFTILE FAF, ANE, AAE, AZE, HES, WA F, FE2F 279 dd
d A E = =Z&I|&E 2 AHZ ad A =2 =&I|&E 2 AHZ 0t
2 OHA = 100CFU/mL O] Gt 0 2 EHE=ZZ =24 Z/100mL =245
= (Pb) 0.01mg/LOI G} E2AE 4 E2(F) 1.5mg/L 0| Gt EAE
Bl (As) 0.01mg/LO[ Gt 3= 6 Miells (Se) 0.01mg/LOI 3t =EdE
=2 (Hg) 0.001mg/LOI &} =3 8 AI2F(CN) 0.01mg/LOI Gt =3
3E(Cr) 0.05mg/LO| Gt == Q2LIOtE & A 0.5mg/LOI Gt =SdE
MY EA 10mg/LO| Gt 2.5 II=Z(Cd) 0.005mg/LO| Gt =24ds
Hl = (Phenol) 0.005mg/LO| &t == SECIEZME 0.1mg/LOI Gt 0.005
CIOIOF Kl = 0.02mg/L 0| Gt E3= oteteEle 0.06mg/LOI Gt Eds
1.2-CIE2R2-3-222T 28| (.003mg/LOI 5t =35 HUEZE= 0.04mg/LO| Gt =3
JtHE 0.07mg/LOI Gt E3= 1.1.1-EcIZ2=220E| 0.1mg/LOI5H s
HECZSZ=0Ed 0.01mg/LOI 5t =242 EclEz=20Ed 0.03mg/LO| Gt =235
CIS2Z=20 & 0.02mg/LOl St E2= gl &l (Benzene) 0.01mg/LOI Gt EA=
E 20 (Toluene) 0.7mg/LOl ot E2= ol € et &l 0.3mg/LOI Gt 2245
Al 0.5mg/LOI &t =HE 1.1-CI2=220Ed 0.03mg/LO| Gt =3
AHSE BFEFA 0.002mg/LOlGt | 23S & & (Hardness) 300mg/L Ol Bt 32
2L EAH S 10mg/LO| Gt EZ= & A (Odor ) ol gl A AS
Ot(Taste) olgl gtg A NnS & (Cu) 1.0mg/LOI Gk EA=
M (Colority) 5% 0Olot E2= K HI (ABS) 0.5mg/LOI| Gt EAE
#2025 (pH) 5.8~8.5 7.5 Ot (Zn) 3mg/L Ol Gt =2aE
gAa02 250mg/LO| Gt 8.8 SLA=2 500mg/L Ol Gt 77
& (Fe) 0.3mg/LO| Gt A a2H(Mn) 0.05mg/LO| 5t 22As
&S (Turbidity) 0.5NTU Ol Gt 0.13 2ol 2 200mg/L Ol 5t 2
2 20/=(Al) 0.2mg/LO| 5t 2= s 4mg/L 0| Gt 0.64
4 (B) 1.0mg/LOI Gt == S2=2LE 0.08mg/LOI Gt =&
cALUHERZ 24 Z/100mL =35 22 26I0|=dI0IE 0.03mg/LO| Gt =y
CIEZ2Z20tMELIEE | 0.1mg/LOI 5t 3¢t CIZ220tMELIEE | 0.09mg/LOI Gt 28t
ECI2Z20MELIEE| 0.004mg/LO| Gt 3t SZ20tNIEAIS 0.1mg/LOl Gt 3¢t
SZR0EZ2ZHE 0.03mg/LOI Gk =3 CIEZ2E2Z2Z22H E 0.1mg/LOI Gt 2=
1.4-CtOI =S 4t 0.05mg/LOI Gt 3= ZE2O0IE 0.5mg/LOI Gt =1
& £ Z/100mL =3 BELY 0.01mg/LOI Gt =3
fets 30ug/L Olat ==
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= o] Fo] AL FAAA AAE H=E FAVEd A3}
= SAFE FE 79 5 LAY, LS €59Y
= RN FEI|E ZAZ g A E = *&I|&E Z A
2 OHA = 100CFU/mL O] Gt 0 2 EHE=ZZ =24 Z/100mL =245
= (Pb) 0.01mg/LOI G} E2AE 4 E2(F) 1.5mg/L 0| Gt EAE
Bl (As) 0.01mg/LO[ Gt 3= 6 Miells (Se) 0.01mg/LOI 3t =EdE
=2 (Hg) 0.001mg/LOI &} =3 8 AI2F(CN) 0.01mg/LOI Gt =3
3E(Cr) 0.05mg/LO| Gt == Q2LIOtE & A 0.5mg/LOI Gt =SdE
MY EA 10mg/LO| Gt 2.5 II=Z(Cd) 0.005mg/LO| Gt =24ds
Hl = (Phenol) 0.005mg/L0OI 5t =3 SECIEZME 0.1mg/LOI Gt =23
CHOIOF Kl = 0.02mg/L 0| Gt E3= oteteEle 0.06mg/LOI Gt Eds
1.2-CIE2R2-3-222T 28| (.003mg/LOI 5t =35 HUEZE= 0.04mg/LO| Gt =3
JtHE 0.07mg/LOI Gt E3= 1.1.1-EcIZ2=220E| 0.1mg/LOI5H s
HECZSZ=0Ed 0.01mg/LOI 5t =242 EclEz=20Ed 0.03mg/LO| Gt =235
CIS2Z=20 & 0.02mg/LOl St E2= gl &l (Benzene) 0.01mg/LOI Gt EA=
E 20 (Toluene) 0.7mg/LOl ot E2= ol € et &l 0.3mg/LOI Gt 2245
Al 0.5mg/LOI &t =HE 1.1-CI2=220Ed 0.03mg/LO| Gt =3
AHSE BFEFA 0.002mg/LOlGt | 23S & & (Hardness) 300mg/L Ol Bt 4
2L EAH S 10mg/LO| Gt EZ= & A (Odor ) ol gl A AS
Ot(Taste) olgl gtg A NnS & (Cu) 1.0mg/LOI Gk EA=
M (Colority) 5% 0Olot E2= K HI (ABS) 0.5mg/LOI| Gt EAE
+20/25%(pH) 5.8~8.5 7.1 Ok (Zn) 3mg/LOI| 5t 0.002
gAa02 250mg/LO| Gt 2.7 SLA=2 500mg/L Ol Gt 36
& (Fe) 0.3mg/LO| Gt 2= a2H(Mn) 0.05mg/LO| 5t 22As
&S (Turbidity) 0.5NTU Ol Gt 0.05 2ol 2 200mg/L Ol 5t =2EE
220|s (Al) 0.2mg/LOI Gt EZ= S4FHA 4mg/LOI 5t 1.00
4 (B) 1.0mg/LOI Gt == S2=2LE 0.08mg/LOI Gt =&
cALUHERZ 24 Z/100mL =35 22 26I0|=dI0IE 0.03mg/LO| Gt =y
CIE=20tMELIEE | 0.1mg/LOIoH 3¢t CIZ220tMELIEE | 0.09mg/LOI Gt 28t
ECI2Z20MELIEE| 0.004mg/LO| Gt 3t SZ20tNIEAIS 0.1mg/LOl Gt 3¢t
SZR0EZ2ZHE 0.03mg/LOI Gk =3 CIEZ2E2Z2Z22H E 0.1mg/LOI Gt 2=
1.4-CtOI =S 4t 0.05mg/LOI Gt 3= ZE2O0IE 0.5mg/LOI Gt =1
& £ Z/100mL =3 BELY 0.01mg/LOI Gt =3
fets 30ug/L Olat ==
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= RN SEI|E 21 A8 S *&I|&E A
2 OHA = 100CFU/mL O] Gt 0 EHE=ZZ =24 Z/100mL =245
= (Pb) 0.01mg/LOI G} E2AE E2(F) 1.5mg/L 0| Gt EAE
Bl 2 (As 0.01mg/LOI Gt 3= Miells (Se) 0.01mg/LOI 3t =EdE
=2 (Ho) 0.001mg/LOI &} E3= AI2F(CN) 0.01mg/LOI Gt E3E
3E(Cr) 0.05mg/LO| Gt == Q2LIOtE & A 0.5mg/LOI Gt =SdE
MY EA 10mg/LO| Gt 0.1 II=Z(Cd) 0.005mg/LOI Gt =245
Hl = (Phenol) 0.005mg/LO| &t == SECIEZME 0.1mg/LOI Gt 0.005
CHOIOF Kl = 0.02mg/L 0| Gt E3= oteteEle 0.06mg/LOI Gt Eds
1.2-0223-3-222T28| (.003mg/L0| 5} 2= HLUEZE2 0.04mg/LOI Gt EZ=
JtHE 0.07mg/LOI Gt E3= 1.1.1-EcIZ2=220E| 0.1mg/LOI5H s
HECZSZ=0Ed 0.01mg/LOI Gk =242 EclEz=20Ed 0.03mg/LO| Gt =235
CIS2Z=20 & 0.02mg/LOl St E2= gl &l (Benzene) 0.01mg/LOI Gt EA=
E 20 (Toluene) 0.7mg/LOl ot E2= ol € et &l 0.3mg/LOI Gt 2245
Al 0.5mg/LOI &t =HE 1.1-C2220Ed 0.03mg/LO| Gt =3
AHSE BFEFA 0.002mg/LOlGt | 23S & & (Hardness) 300mg/L Ol Bt 26
2L EAH S 10mg/LO| Gt EZ= & A (Odor ) ol gl A AS
Ot(Taste) olgl gtg A NnS & (Cu) 1.0mg/LOI Gk EA=
M (Colority) 5% 0Olot EAE K HI (ABS) 0.5mg/LOI| Gt EAE
22 0|2=% (pH) 5.8~8.5 7.4 Ot (Zn) 3mg/LO| Gt 0.003
gAa02 250mg/LO| Gt 5.2 SLA=2 500mg/L Ol Gt 74
& (Fe) 0.3mg/LO| Gt 2= a2H(Mn) 0.05mg/LO| 5t 22As
&S (Turbidity) 0.5NTU Ol Gt 0.14 2ol 2 200mg/L Ol 5t EdE
2 20/=(Al) 0.2mg/LO| 5t 2= s 4mg/L 0| Gt 0.54
4 (B) 1.0mg/LOI Gt =2EE S2=2LE 0.08mg/LOI 5t 0.003
cALUHERZ 24 Z/100mL =35 22 26I0|=dI0IE 0.03mg/LO| Gt =y
CIEZ2Z20tMELIEE | 0.1mg/LOI 5t 3¢t CIZ220tMELIEE | 0.09mg/LOI Gt 3S&t
ECI2Z20MELIEE| 0.004mg/LO| Gt 3t SZ20tMEAIE 0.1mg/LOl Gt 3¢t
SZLCEZ2Z20HE 0.03mg/LOI Gk =3 CIEZ2E2Z2Z22H E 0.1mg/LOI Gt 2=
1.4-CtOI =S 4t 0.05mg/LOI Gt 3= ZE2O0IE 0.5mg/LOI Gt =1
& £ Z/100mL =3 BELY 0.01mg/LOI Gt =3
fets 30ug/L Olat 0.2
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= o] ZFo] AFR FAAA AAE HeE FAVEd A7}
= FHAASFE FFETIE TR (F5 313,389,939, A5 FY, &2 45189
= RN =& )| = ZAZE A8 S &&= ZAFZ 1t
2 OHA = 100CFU/mL O] Gt 0 2 EHE=ZZ =24 Z/100mL =245
= (Pb) 0.01mg/LOI G} E2AE 4 E2(F) 1.5mg/L 0| Gt EAE
Bl (As) 0.01mg/LO[ Gt 3= 6 Miells (Se) 0.01mg/LOI 3t =EdE
=2 (Hg) 0.001mg/LOI &} E3= 8 AI2F(CN) 0.01mg/LOI Gt =3
FE(Cr 0.05mg/LOI Gt == 10 Q2LIOtE & A 0.5mg/LOI Gt =SdE
MY EA 10mg/LO| Gt 1.9 12 II=Z(Cd) 0.005mg/LOI Gt =245
Hl = (Phenol) 0.005mg/L0OI 5t =3 14 SECIEZME 0.1mg/LOI Gt =23
CtOIOF Kl = 0.02mg/L 0| Gt E3= 16 oteteEle 0.06mg/LO| Gt Eds
1.2-CIE2R2-3-222T 28| (.003mg/LOI 5t =35 18 HUEZE= 0.04mg/LO| Gt =3
JtHE 0.07mg/LOI Gt A& (20 (1.1.1-EcISZ220 & | 0.1mg/LOI5t s
HEZS2==20 € | 0.01mg/LOIGH 22 | 22| EcZ2zzo 0.03mg/L Ol 3t ek
CIS2Z=20 & 0.02mg/LOl St E2s | 24 gl &l (Benzene) 0.01mg/LOI Gt EA=
EZ0(Toluene) 0.7mg/LOI Gt A= | 26 Ol & &l FI 0.3mg/LOl ot E2A=
Al 0.5mg/LOI &t =HE 28 | 1.1-LIZ220E¢d 0.03mg/LO| Gt =3
AMNEBSEF A 0.002mg/LO| &t gd& | 30 & & (Hardness) 300mg/LOI Gt 32
2L EAH S 10mg/LO| Gt =285 | 32 & A (Odor ) ol gl A AS
Ot(Taste) olgl gtg A NnS 34 & (Cu) 1.0mg/LOI Gk EA=
M (Colority) 5% 0| 3at =3 36 M Xl (ABS) 0.5mg/LOI Gt =245
#2025 (pH) 5.8~8.5 8.1 38 Ot (Zn) 3mg/L Ol Gt =HdE
gAa02 250mg/LO| Gt 28.1 40 SEUF2 500mg/L Ol Gt 113
& (Fe) 0.3mg/LOI Gt =3 42 2k 2H(Mn) 0.05mg/LOI &t =2
&S (Turbidity) 0.5NTU Ol Gt 0.06 44 2ol 2 200mg/L Ol 5t 5
2 20/=(Al) 0.2mg/LO| 5t 224 | 46 s 4mg/L 0| Gt 0.43
=24(B) 1.0mg/LOI Gt 0.01 48 S2=2LE 0.08mg/LOI 5t =&
cALUHERZ 24 Z/100mL EAE (50| S=2Lot0IEHO0E 0.03mg/LO| Gt =y
CIEZ2Z20tMELIEE | 0.1mg/LOI 5t gt 52 |[CIZ22 20t ELIEE | 0.09mg/LOI ot 3S&t
ECI2Z20MELIEE| 0.004mg/LO| Gt 3t 54 SZ20tMEAIE 0. 1mg/LOI Gt 3¢t
S2ILEZ220E 0.03mg/LO| Gt =3 56| CEZR2ZZ2Z20HE 0.1mg/LOI Gt =3
1.4-CtOI =S 4t 0.05mg/LOI Gt EZE | 58 ZE2O0IE 0.5mg/LOI Gt =1
& £ Z/100mL =3 60 BELY 0.01mg/LOI Gt =3
fets 30ug/L Olat ==
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= RN =& )| = ZAZE A8 S *&I|&E A
2 OHA = 100CFU/mL O] Gt 0 2 EHE=ZZ =24 Z/100mL =245
= (Pb) 0.01mg/LOI G} E2AE 4 E2(F) 1.5mg/L 0| Gt EAE
Bl (As) 0.01mg/LO[ Gt 3= 6 Miells (Se) 0.01mg/LOI 3t =EdE
=2 (Hg) 0.001mg/LOI &} E3= 8 AI2F(CN) 0.01mg/LOI Gt =3
FE(Cr 0.05mg/LOI Gt == 10 Q2LIOtE & A 0.5mg/LOI Gt =SdE
MY EA 10mg/LO| Gt 2.1 12 II=Z(Cd) 0.005mg/LOI Gt =245
Hl = (Phenol) 0.005mg/L0OI 5t =3 14 SECIEZME 0.1mg/LOI Gt =23
CtOIOF Kl = 0.02mg/L 0| Gt E3= 16 oteteEle 0.06mg/LO| Gt Eds
1.2-CIE2R2-3-222T 28| (.003mg/LOI 5t =35 18 HUEZE= 0.04mg/LO| Gt =3
JtHE 0.07mg/LOI Gt A& (20 (1.1.1-EcISZ220 & | 0.1mg/LOI5t s
HEZS2==20 € | 0.01mg/LOIGH 22 | 22| EcZ2zzo 0.03mg/L Ol 3t ek
CIS2Z=20 & 0.02mg/LOl St E2s | 24 gl &l (Benzene) 0.01mg/LOI Gt EA=
EZ0(Toluene) 0.7mg/LOI Gt A= | 26 Ol & &l FI 0.3mg/LOl ot E2A=
Al 0.5mg/LOI &t =HE 28 | 1.1-LIZ220E¢d 0.03mg/LO| Gt =3
AMNEBSEF A 0.002mg/LO| &t gd& | 30 & & (Hardness) 300mg/LOI Gt 31
2L EAH S 10mg/LO| Gt =285 | 32 & A (Odor ) ol gl A AS
Ot(Taste) olgl gtg A NnS 34 & (Cu) 1.0mg/LOI Gk EA=
M (Colority) 5% 0| 3at =3 36 M Xl (ABS) 0.5mg/LOI Gt =245
22 0|2=% (pH) 5.8~8.5 7.9 38 Ot (Zn) 3mg/L Ol Gt 0.002
gAa02 250mg/LO| Gt 8.0 40 SEUF2 500mg/L Ol Gt 77
& (Fe) 0.3mg/LOI Gt =3 42 2k 2H(Mn) 0.05mg/LOI &t =TS
&S (Turbidity) 0.5NTU Ol Gt 0.05 44 2ol 2 200mg/L Ol 5t EZE
2 20/=(Al) 0.2mg/LO| 5t 224 | 46 s 4mg/L 0| Gt 0.44
=24(B) 1.0mg/LOI Gt =ZE | 48 S2=2LE 0.08mg/LOI Gt STE
cALUHERZ 24 Z/100mL EAE (50| S=2Lot0IEHO0E 0.03mg/LO| Gt =y
CIEZ2Z20tMELIEE | 0.1mg/LOI 5t gt 52 |[CIZ22 20t ELIEE | 0.09mg/LOI ot 3S&t
ECI2Z20MELIEE| 0.004mg/LO| Gt 3t 54 SZ20tMEAIE 0. 1mg/LOI Gt 3¢t
S2ILEZ220E 0.03mg/LO| Gt =3 56| CEZR2ZZ2Z20HE 0.1mg/LOI Gt =3
1.4-CtOI =S 4t 0.05mg/LOI Gt EZE | 58 ZE2O0IE 0.5mg/LOI Gt =1
& £ Z/100mL =3 60 BELY 0.01mg/LOI Gt =3
fets 30ug/L Olat ==
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= EAFF FFTEL NESF(FE1 - 38), 9F, =¥ F dFYU
d A E = =Z&I|&E 2 AHZ a At & =2 =&I|&E 4 AFZ Dt
2 OHA = 100CFU/mL O] Gt 0 2 EHE=ZZ =24 Z/100mL =245
= (Pb) 0.01mg/LOI G} E2AE 4 E2(F) 1.5mg/L 0| Gt EAE
Bl (As) 0.01mg/LO[ Gt 3= 6 Miells (Se) 0.01mg/LOI 3t =EdE
=2 (Hg) 0.001mg/LOI &} =3 8 AI2F(CN) 0.01mg/LOI Gt =3
3E(Cr) 0.05mg/LO| Gt == Q2LIOtE & A 0.5mg/LOI Gt =SdE
MY EA 10mg/LO| Gt 2.5 II=Z(Cd) 0.005mg/LO| Gt =24ds
Hl = (Phenol) 0.005mg/L0OI 5t =3 SECIEZHE 0.1mg/LOI Gt =23
CIOIOF Kl = 0.02mg/L 0| Gt E3= oteteEle 0.06mg/LOI Gt Eds
1.2-CIE2R2-3-222T 28| (.003mg/LOI 5t =35 HUEZE= 0.04mg/LO| Gt =3
JtHE 0.07mg/LOI Gt E3= 1.1.1-EcIZ2=220E| 0.1mg/LOI5H s
HECZSZ=0Ed 0.01mg/LOI 5t =242 EclEz=20Ed 0.03mg/LO| Gt =235
CIS2Z=20 & 0.02mg/LOl St E2= gl &l (Benzene) 0.01mg/LOI Gt EA=
E 20 (Toluene) 0.7mg/LOl ot E2= ol € et &l 0.3mg/LOI Gt 2245
Al 0.5mg/LOI &t =HE 1.1-CI2=220Ed 0.03mg/LO| Gt =3
AHSE BFEFA 0.002mg/LOlGt | 23S & & (Hardness) 300mg/L Ol Bt 34
2L EAH S 10mg/LO| Gt EZ= & A (Odor ) ol gl A AS
Ot(Taste) olgl gtg A NnS & (Cu) 1.0mg/LOI Gk EA=
M (Colority) 5% 0Olot E2= K HI (ABS) 0.5mg/LOI| Gt EAE
#2025 (pH) 5.8~8.5 7.8 Ot (Zn) 3mg/L Ol Gt =HdE
gAa02 250mg/LO| Gt 11.2 SLA=2 500mg/L Ol Gt 86
& (Fe) 0.3mg/LO| Gt 2= a2H(Mn) 0.05mg/LO| 5t 22As
&S (Turbidity) 0.5NTU Ol Gt 0.07 2ol 2 200mg/L Ol 5t 3
2 20/=(Al) 0.2mg/LO| 5t 2= s 4mg/L 0| Gt 0.48
=24(B) 1.0mg/LOI Gt == S2=2LE 0.08mg/LOI Gt STE
cALUHERZ 24 Z/100mL =35 22 26I0|=dI0IE 0.03mg/LO| Gt =y
CIE=20tMELIEE | 0.1mg/LOIoH 3¢t CIZ220tMELIEE | 0.09mg/LOI Gt 28t
ECI2Z20MELIEE| 0.004mg/LO| Gt 3t SZ20tNIEAIS 0.1mg/LOl Gt 3¢t
SZR0EZ2ZHE 0.03mg/LOI Gk =3 CIEZ2E2Z2Z22H E 0.1mg/LOI Gt 2=
1.4-CtOI =S 4t 0.05mg/LOI Gt 3= ZE2O0IE 0.5mg/LOI Gt =1
& £ Z/100mL =3 BELY 0.01mg/LOI Gt =3
fets 30ug/L Olat ==
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= RN FEI|E ZARZ It g A E = *&I|&E A
2 OHA = 100CFU/mL O] Gt 0 EHE=ZZ =24 Z/100mL =245
= (Pb) 0.01mg/LOI G} E2AE E2(F) 1.5mg/L 0| Gt EAE
Bl (As) 0.01mg/LO[ Gt 3= Miells (Se) 0.01mg/LOI 3t =EdE
=2 (Ho) 0.001mg/LOI &} E3= AI2F(CN) 0.01mg/LOI Gt E3E
3E(Cr) 0.05mg/LO| Gt == Q2LIOtE & A 0.5mg/LOI Gt =SdE
MY EA 10mg/LO| Gt 4.1 II=Z(Cd) 0.005mg/LOI Gt =245
Hl = (Phenol) 0.005mg/L0OI 5t =3 SECIEZME 0.1mg/LOI Gt =23
CHOIOF Kl = 0.02mg/L 0| Gt E3= oteteEle 0.06mg/LOI Gt Eds
1.2-0223-3-222T28| (.003mg/L0| 5} 2= HLUEZE2 0.04mg/LOI Gt EZ=
JtHE 0.07mg/LOI Gt E3= 1.1.1-EcIZ2=220E| 0.1mg/LOI5H s
HECZSZ=0Ed 0.01mg/LOI Gk =242 EclEz=20Ed 0.03mg/LO| Gt =235
CIS2Z=20 & 0.02mg/LOl St E2= gl &l (Benzene) 0.01mg/LOI Gt EA=
E 20 (Toluene) 0.7mg/LOl ot E2= ol € et &l 0.3mg/LOI Gt 2245
Al 0.5mg/LOI &t =HE 1.1-C2220Ed 0.03mg/LO| Gt =3

AHSE BFEFA 0.002mg/LOlGt | 23S & & (Hardness) 300mg/L Ol Bt 40
2L EAH S 10mg/LO| Gt EZ= & A (Odor ) ol gl A AS
Ot(Taste) olgl gtg A NnS & (Cu) 1.0mg/LOI Gk EA=
M (Colority) 5% 0Olot EAE K HI (ABS) 0.5mg/LOI| Gt EAE
#2025 (pH) 5.8~8.5 7.9 Ot (Zn) 3mg/L Ol Gt =HdE
gAa02 250mg/LO| Gt 13.6 SEUF2 500mg/L Ol Gt 101
& (Fe) 0.3mg/LO| Gt 2= a2H(Mn) 0.05mg/LO| 5t 22As

&S (Turbidity) 0.5NTU Ol Gt 0.31 2ol 2 200mg/L Ol 5t 5
2 20/=(Al) 0.2mg/LO| 5t 2= s 4mg/L 0| Gt 0.64
4 (B) 1.0mg/LOI Gt == S2=2LE 0.08mg/LOI Gt =&
cALUHERZ 24 Z/100mL =35 22 26I0|=dI0IE 0.03mg/LO| Gt =y
CIEZ2Z20tMELIEE | 0.1mg/LOI 5t 3¢t CIZ220tMELIEE | 0.09mg/LOI Gt 28t
ECI2Z20MELIEE| 0.004mg/LO| Gt 3t SZ20tMEAIE 0.1mg/LOl Gt 3¢t
SZLCEZ2Z20HE 0.03mg/LOI Gk =3 CIEZ2E2Z2Z22H E 0.1mg/LOI Gt 2=
1.4-CtOI =S 4t 0.05mg/LOI Gt 3= ZE2O0IE 0.5mg/LOI Gt =1
& £ Z/100mL =3 BELY 0.01mg/LOI Gt =3

fets 30ug/L Olat ==
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= RN =& )| = ZALZ 2 A E = *&I|&E ZALZ
2 BEAI = 100CFU/mLO| St 0 2 EHE=ZZ =& =/100mL =245
= (Pb) 0.01mg/LOI G} 22 | 4 E2(F) 1.5mg/L 0| Gt EAE
Bl (As) 0.01mg/LO[ Gt 3= 6 Miells (Se) 0.01mg/LOI Gt =EdE
+=2(Ha) 0.001mg/LOI &} E3= 8 AI2F(CN) 0.01mg/LOI Gt E3E
FE(Cr 0.05mg/LOI Gt == 10 Q2LIOtE & A 0.5mg/LOI Gt =SdE
MY EA 10mg/LO| Gt 1.6 12 = E(Cd) 0.005mg/LOI Gt =245
Hl = (Phenol) 0.005mg/LO| &t == 14 SECIEZME 0.1mg/LOI Gt 0.002
CtOI Ot Kl = 0.02mg/L 0| Gt E3= 16 oteteEle 0.06mg/LOI Gt Eds
1.2-0223-3-222T28| (.003mg/L0| 5} EZE | 18 HUEZE& 0.04mg/LOI Gt EZ=
JtHE 0.07mg/LOI Gt A& (20 (1.1.1-EcISZ220 & | 0.1mg/LOI5t s
HEZS2==20 € | 0.01mg/LOIGH 22 | 22| EcZ2zzo 0.03mg/LO| ot ek
CIS2Z=20 & 0.02mg/LOl St E2s | 24 gl &l (Benzene) 0.01mg/LOI Gt EA=
EZ0(Toluene) 0.7mg/LOI Gt A= | 26 Ol & &l FI 0.3mg/LOl ot E2A=
Al 0.5mg/LOI &t =HE 28 | 1.1-LIZ220E¢d 0.03mg/LO| Gt =3
AMNEBSEF A 0.002mg/LO| &t gd& | 30 & & (Hardness) 300mg/LOI Gt 25
2L EAH S 10mg/LO| Gt 2ZE | 32 & A (Odor ) ol gl A AS
Ot(Taste) olgl gtg A NnS 34 & (Cu) 1.0mg/LOI Gk EA=
M (Colority) 5% 0| 3at =3 36 M Xl (ABS) 0.5mg/LOI Gt =245
#2025 (pH) 5.8~8.5 7.4 38 Ot (Zn) 3mg/L Ol Gt 0.003
gAa02 250mg/LO| Gt 6.8 40 SEUF2 500mg/L Ol Gt 67
& (Fe) 0.3mg/LOl ot =3 42 2k 2H(Mn) 0.05mg/LOI &t =3
& (Turbidity) 0.5NTU Ol Gt 0.06 44 2ol 2 200mg/L Ol 5t 3
2 20/=(Al) 0.2mg/LO| 5t 224 | 46 s 4mg/LO| Bt 0.43
=24(B) 1.0mg/LO| Gt =ZE | 48 S2ZLE 0.08mg/LOI Gt =&
cALUHERZ 24 Z/100mL EAE (50| S=2Lot0IEHO0E 0.03mg/LO| Gt e
CIEZ2Z20tMELIEE | 0.1mg/LOI 5t 3¢t 52 |[CIZ22 20t ELIEE | 0.09mg/LOI ot 3S&t
ECI2Z20MELIEE| 0.004mg/LO| Gt 3t 54 SZ20tMEAIE 0. 1mg/LOI Gt 3¢t
S2ILEZ220E 0.03mg/LO| Gt =3 56| CEZR2ZZ2Z20HE 0.1mg/LOI Gt =3
1.4-CtOI =S &t 0.05mg/LOI Gt EZE | 58 ZE2O0IE 0.5mg/LOI Gt e
& £ Z/100mL =3 60 BELY 0.01mg/LOI Gt =3
fets 30ug/L Ol ot ==
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Z A& = =& )| = ZALZ 2 A E = &= A
2 BEAI = 100CFU/mLO| St 0 2 EHE=ZZ =& =/100mL =245
= (Pb) 0.01mg/LOI G} 22 | 4 E2(F) 1.5mg/L 0| Gt EAE
Bl (As) 0.01mg/LO[ Gt 3= 6 Miells (Se) 0.01mg/LOI Gt =EdE
+=2(Ha) 0.001mg/LOI &} E3= 8 AI2F(CN) 0.01mg/LOI Gt E3E
FE(Cr 0.05mg/LOI Gt == 10 Q2LIOtE & A 0.5mg/LOI Gt =SdE
MY EA 10mg/LO| Gt 0.8 12 = E(Cd) 0.005mg/LOI Gt =245
Hl = (Phenol) 0.005mg/L0OI 5t =3 14 SECIEZME 0.1mg/LOI Gt =23
CtOI Ot Kl = 0.02mg/L 0| Gt E3= 16 oteteEle 0.06mg/LOI Gt Eds
1.2-0223-3-222T28| (.003mg/L0| 5} EZE | 18 HUEZE& 0.04mg/LOI Gt EZ=
JtHE 0.07mg/LOI Gt A& (20 (1.1.1-EcISZ220 & | 0.1mg/LOI5t s
HEZS2==20 € | 0.01mg/LOIGH 22 | 22| EcZ2zzo 0.03mg/LO| ot E2s
CIS2Z=20 & 0.02mg/LOl St E2s | 24 gl &l (Benzene) 0.01mg/LOI Gt EA=
EZ0(Toluene) 0.7mg/LOI Gt A= | 26 Ol & &l FI 0.3mg/LOl ot E2A=
Al 0.5mg/LOI &t =HE 28 | 1.1-LIZ220E¢d 0.03mg/LO| Gt =3
AMNEBSEF A 0.002mg/LO| &t gd& | 30 & & (Hardness) 300mg/LOI Gt 50
2L EAH S 10mg/LO| Gt 2ZE | 32 & A (Odor ) ol gl A AS
Ot(Taste) olgl gtg A NnS 34 & (Cu) 1.0mg/LOI Gk EA=
M (Colority) 5% 0| 3at =3 36 M Xl (ABS) 0.5mg/LOI Gt =245
#2025 (pH) 5.8~8.5 7.9 38 Ok (Zn) 3mg/L Ol Gt =HdE
gAa02 250mg/LO| Gt 8.4 40 SEUF2 500mg/L Ol Gt
= (Fe) 0.3mg/LO| Gt g2z | 42 a2H(Mn) 0.05mg/LO| 5t
& (Turbidity) 0.5NTU Ol Gt 0.06 44 2ol 2 200mg/L Ol 5t
220|s (Al) 0.2mg/LOI Gt EZ= 46 S4FHA 4mg/LOI &t
=24(B) 1.0mg/LOI Gt == 48 S2=2LE 0.08mg/LOI Gt
cALUHERZ 24 Z/100mL EAE (50| S=2Lot0IEHO0E 0.03mg/LO| Gt e
CIEZ2Z20tNELIEE | 0.1mg/LOI 6t 3¢t 52 |[CIZ22 20t ELIEE | 0.09mg/LOI ot 3S&t
ECI2Z20MELIEE| 0.004mg/LO| Gt 3t 54 SZ20tMEAIE 0. 1mg/LOI Gt 3¢t
S2ILEZ220E 0.03mg/LO| Gt == 56| CEZR2ZZ2Z20HE 0.1mg/LOI Gt =3
1.4-CtOI =S &t 0.05mg/LOI Gt EZE | 58 ZE2O0IE 0.5mg/LOI Gt e
& £ Z/100mL =3 60 BELY 0.01mg/LOI Gt =3
fots 30ug/L Olat 0.4
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= RN =& )| = ZAZE A8 S *&I|&E A
2 OHA = 100CFU/mL O] Gt 0 2 EHE=ZZ =24 Z/100mL =245
= (Pb) 0.01mg/LOI G} E2AE 4 E2(F) 1.5mg/L 0| Gt EAE
Bl (As) 0.01mg/LO[ Gt 3= 6 Miells (Se) 0.01mg/LOI 3t =EdE
=2 (Hg) 0.001mg/LOI &} E3= 8 AI2F(CN) 0.01mg/LOI Gt =3
FE(Cr 0.05mg/LOI Gt == 10 Q2LIOtE & A 0.5mg/LOI Gt =SdE
MY EA 10mg/LO| Gt 2.8 12 II=Z(Cd) 0.005mg/LOI Gt =245
Hl = (Phenol) 0.005mg/LO| &t == 14 SECIEZME 0.1mg/LOI Gt 0.006
CtOIOF Kl = 0.02mg/L 0| Gt E3= 16 oteteEle 0.06mg/LO| Gt Eds
1.2-CIE2R2-3-222T 28| (.003mg/LOI 5t =35 18 HUEZE=2 0.04mg/LO| Gt =3
JtHE 0.07mg/LOI Gt A& (20 (1.1.1-EcISZ220 & | 0.1mg/LOI5t s
HEZS2==20 € | 0.01mg/LOIGH 22 | 22| EcZ2zzo 0.03mg/L Ol 3t ek
CIS2Z=20 & 0.02mg/LOl St E2s | 24 gl &l (Benzene) 0.01mg/LOI Gt EA=
EZ0(Toluene) 0.7mg/LOI Gt A= | 26 Ol & &l FI 0.3mg/LOl ot E2A=
Al 0.5mg/LOI &t =HE 28 | 1.1-LIZ220E¢d 0.03mg/LO| Gt =3
AMNEBSEF A 0.002mg/LO| &t gd& | 30 & & (Hardness) 300mg/LOI Gt 31
2L EAH S 10mg/LO| Gt =285 | 32 & A (Odor ) ol gl A AS
Ot(Taste) olgl gtg A NnS 34 & (Cu) 1.0mg/LOI Gk EA=
M (Colority) 5% 0| 3at =3 36 M Xl (ABS) 0.5mg/LOI Gt =245
#2025 (pH) 5.8~8.5 8.1 38 Ot (Zn) 3mg/L Ol Gt 0.016
gAa02 250mg/LO| Gt 11.2 40 SEUF2 500mg/L Ol Gt 88
& (Fe) 0.3mg/LOl ot =3 42 2k 2H(Mn) 0.05mg/LOI &t =3
&S (Turbidity) 0.5NTU Ol Gt 0.05 44 2ol 2 200mg/L Ol 5t 4
2 20/=(Al) 0.2mg/LO| 5t 224 | 46 s 4mg/L 0| Gt 0.45
4 (B) 1.0mg/LOI Gt =2EE 48 S2=2LE 0.08mg/LOI 5t =&
cALUHERZ 24 Z/100mL EAE (50| S=2Lot0IEHO0E 0.03mg/LO| Gt =y
CIEZ2Z20tMELIEE | 0.1mg/LOI 5t gt 52 |[CIZ22 20t ELIEE | 0.09mg/LOI ot 3S&t
ECI2Z20MELIEE| 0.004mg/LO| Gt 3t 54 SZ20tMEAIE 0. 1mg/LOI Gt 3¢t
S2ILEZ220E 0.03mg/LO| Gt =3 56| CEZR2ZZ2Z20HE 0.1mg/LOI Gt =3
1.4-CtOI =S 4t 0.05mg/LOI Gt EZE | 58 ZE2O0IE 0.5mg/LOI Gt =1
& £ Z/100mL =3 60 BELY 0.01mg/LOI Gt =3
fets 30ug/L Olat ==
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2 OHA = 100CFU/mL O] Gt 0 2 EHE=ZZ =24 Z/100mL =245
= (Pb) 0.01mg/LOI G} E2AE 4 E2(F) 1.5mg/L 0| Gt EAE
Bl (As) 0.01mg/LO[ Gt 3= 6 Miells (Se) 0.01mg/LOI 3t =EdE
=2 (Hg) 0.001mg/LOI &} E3= 8 AI2F(CN) 0.01mg/LOI Gt =3
FE(Cr 0.05mg/LOI Gt == 10 Q2LIOtE & A 0.5mg/LOI Gt =SdE
MY EA 10mg/LO| Gt 1.7 12 II=Z(Cd) 0.005mg/LOI Gt =245
Hl = (Phenol) 0.005mg/L0OI 5t =3 14 SECIEZME 0.1mg/LOI Gt =23
CtOIOF Kl = 0.02mg/L 0| Gt E3= 16 oteteEle 0.06mg/LO| Gt Eds
1.2-CIE2R2-3-222T 28| (.003mg/LOI 5t =35 18 HUEZE= 0.04mg/LO| Gt =3
JtHE 0.07mg/LOI Gt A& (20 (1.1.1-EcISZ220 & | 0.1mg/LOI5t s
HEZS2==20 € | 0.01mg/LOIGH 22 | 22| EcZ2zzo 0.03mg/L Ol 3t ek
CIS2Z=20 & 0.02mg/LOl St E2s | 24 gl &l (Benzene) 0.01mg/LOI Gt EA=
EZ0(Toluene) 0.7mg/LOI Gt A= | 26 Ol & &l FI 0.3mg/LOl ot E2A=
Al 0.5mg/LOI &t =HE 28 | 1.1-LIZ220E¢d 0.03mg/LO| Gt =3
AMNEBSEF A 0.002mg/LO| &t gd& | 30 & & (Hardness) 300mg/LOI Gt 35
2L EAH S 10mg/LO| Gt =285 | 32 & A (Odor ) ol gl A AS
Ot(Taste) olgl gtg A NnS 34 & (Cu) 1.0mg/LOI Gk EA=
M (Colority) 5% 0| 3at =3 36 M Xl (ABS) 0.5mg/LOI Gt =245
#2025 (pH) 5.8~8.5 8.1 38 Ot (Zn) 3mg/L Ol Gt =HdE
gAa02 250mg/LO| Gt 10.8 40 SEUF2 500mg/L Ol Gt 87
& (Fe) 0.3mg/LOl ot =3 42 2k 2H(Mn) 0.05mg/LOI &t =3
&S (Turbidity) 0.5NTU Ol Gt 0.04 44 2ol 2 200mg/L Ol 5t 2
2 20/=(Al) 0.2mg/LO| 5t 224 | 46 s 4mg/L 0| Gt 0.49
4 (B) 1.0mg/LOI Gt =2EE 48 S2=2LE 0.08mg/LOI 5t =&
cALUHERZ 24 Z/100mL EAE (50| S=2Lot0IEHO0E 0.03mg/LO| Gt =y
CIEZ2Z20tMELIEE | 0.1mg/LOI 5t gt 52 |[CIZ22 20t ELIEE | 0.09mg/LOI ot 3S&t
ECI2Z20MELIEE| 0.004mg/LO| Gt 3t 54 SZ20tMEAIE 0. 1mg/LOI Gt 3¢t
S2ILEZ220E 0.03mg/LO| Gt =3 56| CEZR2ZZ2Z20HE 0.1mg/LOI Gt =3
1.4-CtOI =S 4t 0.05mg/LOI Gt EZE | 58 ZE2O0IE 0.5mg/LOI Gt =1
& £ Z/100mL =3 60 BELY 0.01mg/LOI Gt =3
fets 30ug/L Olat ==
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2 OHA = 100CFU/mL O] Gt 0 EHE=ZZ =24 Z/100mL =245
= (Pb) 0.01mg/LO| Gt =3 £ (F) 1.5mg/LOl ot =3
Bl (As) 0.01mg/LO[ Gt 3= Miells (Se) 0.01mg/LOI 3t =EdE
=2 (Ho) 0.001mg/LOI &} E3= AI2F(CN) 0.01mg/LOI Gt E3E
3E(Cr) 0.05mg/LO| Gt == Q2LIOtE & A 0.5mg/LOI Gt =SdE
MY EA 10mg/LO| Gt 0.3 II=Z(Cd) 0.005mg/LOI Gt =24ds
Hl = (Phenol) 0.005mg/L0OI 5t =3 SECIEZME 0.1mg/LOI Gt =23
CHOIOF Kl = 0.02mg/L 0| Gt E3= oteteEle 0.06mg/LOI Gt Eds
1.2-CIE2R2-3-222T 28| (.003mg/LOI 5t =35 HUEZE= 0.04mg/LO| Gt =3
JtHE 0.07mg/LOI Gt E3= 1.1.1-EcIZ2=220E| 0.1mg/LOI5H s
HECZSZ=0Ed 0.01mg/LOI 5t =242 EclEz=20Ed 0.03mg/LO| Gt =235
CIS2Z=20 & 0.02mg/LOl St E2= gl &l (Benzene) 0.01mg/LOI Gt EA=
E 20 (Toluene) 0.7mg/LOl ot E2= ol € et &l 0.3mg/LOI Gt 2245
Al 0.5mg/LOI &t =HE 1.1-CI2=220Ed 0.03mg/LO| Gt =3
AHSE BFEFA 0.002mg/LOlGt | 23S & & (Hardness) 300mg/L Ol Bt 47
2L EAH S 10mg/LO| Gt EZ= & A (Odor ) ol gl A AS
Ot(Taste) olgl gtg A NnS & (Cu) 1.0mg/LOI Gk EA=
M (Colority) 5% 0Olot E2= K HI (ABS) 0.5mg/LOI| Gt 24
#2025 (pH) 5.8~8.5 8.2 0t (Zn) 3mg/LO| Gt 0.003
gAa02 250mg/LO| Gt 8.6 SLA=2 500mg/L Ol Gt 121
& (Fe) 0.3mg/LO| Gt 2= a2H(Mn) 0.05mg/LO| 5t 22As
&S (Turbidity) 0.5NTU Ol Gt 0.10 2ol 2 200mg/L Ol 5t =2EE
220|s (Al) 0.2mg/LOI Gt EZ= S4FHA 4mg/LOI 5t 0.63
=24(B) 1.0mg/LOI Gt 0.01 S2=2LE 0.08mg/LOI 5t =&
cALUHERZ 24 Z/100mL =35 22 26I0|=dI0IE 0.03mg/LO| Gt =y
CIE=20tMELIEE | 0.1mg/LOIoH 3¢t CIZ220tMELIEE | 0.09mg/LOI Gt 28t
ECI2Z20MELIEE| 0.004mg/LO| Gt 3t SZ20tMEAIE 0.1mg/LOl Gt 3¢t
SZR0EZ2ZHE 0.03mg/LOI Gk =3 CIEZ2E2Z2Z22H E 0.1mg/LOI Gt 2=
1.4-CtOI =S 4t 0.05mg/LOI Gt 3= ZE2O0IE 0.5mg/LOI Gt =1
& £ Z/100mL =3 BELY 0.01mg/LOI Gt =3
fets 30ug/L Olat 0.2
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2 OHA = 100CFU/mL O] Gt 0 EHE=ZZ =& =/100mL =245
= (Pb) 0.01mg/LO| Gt =3 £ (F) 1.5mg/LOl ot =3
Bl (As) 0.01mg/LO[ Gt 3= Miells (Se) 0.01mg/LOI 3t =EdE
=2 (Ho) 0.001mg/LOI Gt E3= AI2F(CN) 0.01mg/LOI Gt E3E
3E(Cr) 0.05mg/LO| Gt == Q2LIOtE & A 0.5mg/LOI Gt =SdE
ESRAPSESIES 10mg/LO| Gt 0.2 = E(Cd) 0.005mg/L Ol at =245
Hl = (Phenol) 0.005mg/LO| &t == SECIEZME 0.1mg/LOI Gt 0.047
CHOIOF Kl = 0.02mg/L 0| Gt E3= oteteEle 0.06mg/LOI Gt Eds
1.2-0223-3-222T28| (.003mg/L0| 5} 2= HLUEZE2 0.04mg/LOI Gt EZ=
JtHE 0.07mg/LOI Gt E3= 1.1.1-EcIZ2=220E| 0.1mg/LOI5H s
HECZSZ=0Ed 0.01mg/LOI Gk =242 EclEz=20Ed 0.03mg/LO| Gt =235
CIS2Z=20 & 0.02mg/LOl St E2= gl &l (Benzene) 0.01mg/LOI Gt EA=
E 20 (Toluene) 0.7mg/LOl ot E2= ol € et &l 0.3mg/LOI Gt 2245
Al 0.5mg/LOI &t =HE 1.1-C2220Ed 0.03mg/LO| Gt =3
AHSE BFEFA 0.002mg/LOlGt | 23S & & (Hardness) 300mg/L Ol Bt 22
2L EAH S 10mg/LO| Gt 4.4 & A (Odor ) ol gl A AS
Ot(Taste) olgl gtg A NnS & (Cu) 1.0mg/LOI Gk EA=
M (Colority) 5% 0Olot EAE K HI (ABS) 0.5mg/LOI| Gt EAE
22 0|2=% (pH) 5.8~8.5 6.9 Ot (Zn) 3mg/LO| Gt 0.019
gAa02 250mg/LO| Gt 50.5 SEUF2 500mg/L Ol Gt 155
& (Fe) 0.3mg/LO| Gt 2= a2H(Mn) 0.05mg/LO| 5t 22As
&S (Turbidity) 0.5NTU Ol Gt 0.14 2ol 2 200mg/L Ol 5t 8
2 =20l= (A1) 0.2mg/LOI Gt EZ= S4FHA 4mg/LOI 5t 0.35
=24(B) 1.0mg/LOI Gt 0.25 S2=2LE 0.08mg/LOI 5t 0.017
cALUHERZ 24 Z/100mL =35 22 26I0|=dI0IE 0.03mg/LO| Gt e
CIEZ2Z20tMELIEE | 0.1mg/LOI 5t 3¢t CIZ220tMELIEE | 0.09mg/LOI Gt 3S&t
ECI2Z20MELIEE| 0.004mg/LO| Gt 3t SZ20tMEAIE 0. 1mg/LOI Gt 3¢t
S2ILEZ220E 0.03mg/LO| Gt 0.018 CIEZ2E2Z2Z22H E 0.1mg/LOl Gt 0.012
1.4-CtOI =S 4t 0.05mg/LOI Gt 3= ZE2O0IE 0.5mg/LOI Gt e
& £ Z/100mL =3 BE4&E 0.01mg/LOI Gt =3
fets 30ug/L Olat ==




